
Name: Answer KeyFour Digit plus Four Digit Addition

Math www.CommonCoreSheets.com 7 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 13,602

2. 8,292

3. 11,840

4. 12,445

5. 16,037

6. 12,743

7. 9,540

8. 12,732

9. 12,034

10. 10,663

11. 9,719

12. 12,036

13. 10,291

14. 14,804

15. 13,314

16. 15,879

17. 10,023

18. 17,598

19. 12,182

20. 10,393

Solve each problem.

1) 7,484 + 6,118 = 13,602

2) 4,264 + 4,028 = 8,292

3) 8,923 + 2,917 = 11,840

4) 7,371 + 5,074 = 12,445

5) 9,745 + 6,292 = 16,037

6) 7,029 + 5,714 = 12,743

7) 6,820 + 2,720 = 9,540

8) 8,764 + 3,968 = 12,732

9) 8,381 + 3,653 = 12,034

10) 7,433 + 3,230 = 10,663

11) 7,304 + 2,415 = 9,719

12) 8,961 + 3,075 = 12,036

13) 5,465 + 4,826 = 10,291

14) 8,719 + 6,085 = 14,804

15) 9,572 + 3,742 = 13,314

16) 8,906 + 6,973 = 15,879

17) 7,402 + 2,621 = 10,023

18) 9,053 + 8,545 = 17,598

19) 8,978 + 3,204 = 12,182

20) 5,969 + 4,424 = 10,393
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Solve each problem.

8,292 12,445 16,037 12,036

9,719 13,602 11,840 10,663

12,743 9,540 12,034 12,732

1) 7,484 + 6,118 = 13,602

2) 4,264 + 4,028 = 8,292

3) 8,923 + 2,917 = 11,840

4) 7,371 + 5,074 = 12,445

5) 9,745 + 6,292 = 16,037

6) 7,029 + 5,714 = 12,743

7) 6,820 + 2,720 = 9,540

8) 8,764 + 3,968 = 12,732

9) 8,381 + 3,653 = 12,034

10) 7,433 + 3,230 = 10,663

11) 7,304 + 2,415 = 9,719

12) 8,961 + 3,075 = 12,036

Answers
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7. 9,540
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10. 10,663
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12. 12,036
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